Snell’s Law of Refraction
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Use Snell’s law to construct the refracted ray
on the diagram at right.
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" Use a Snell’s law to determine and draw the path light takes in the material as shown. Note: Indices are
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in the text. Also, not all interfaces are horizontal. Dotted lines are the normal lines. .
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Refraction and Wavelength
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Why does refraction occur? Fast moving
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A beam of monochromatic yellow light with a frequency of 5.09 x 10'* Hz enters a block of diamond from air.

a) What is the frequency of the light in the diamond? n/df: l X OO
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b) What is the wavelength of the light in air?
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Optical Effects due to Refraction

Mirages Apparent Depth
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Rainbows Caused by Dispersion

Rainbows are due to sunlight from
over an observer’s shoulder being
refracted by water droplets in the air.
Each color is refracted by a different
amount with the result being the
dispersion of the light into its
component colors.

Total Internal Reflection
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Applications of Total Internal Reflection
Fiber Optic Cables
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